
PRESENT PERFECT AND SIMPLE PAST

Put a check mark on the lines to the right if you got a correct answer.

Find and correct the mistake in each sentence. Use full forms (and not contractions).

1) I am applied for the position of junior accountant in my department.

2) I have did a good job.

3) I has gained a lot of experience in retail sales.

4) In addition, I have took several accounting courses.

5) My supervisor has gave me more and more responsiblity.

Each sentence has four underlined words or phrases. The four underlined parts of the sentence are marked A, B, C, and D. Circle the letter
of the ONE underlined part that is NOT CORRECT.

6) I've wanted to visit Hawaii since years, but I haven't been there yet.
A B C D

7) We went there last year after we have visited Japan.
A B C D

8) I lived here since I got married in 1998.
A B C D
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PRESENT PERFECT AND SIMPLE PAST

Put a check mark on the lines to the right if you got a correct answer.

Find and correct the mistake in each sentence. Use full forms (and not contractions).

1) I am applied for the position of junior accountant in my department.

Answer: I
have
am applied for the position of junior accountant in my department.

2) I have did a good job.

Answer: I have
done
did a good job.

3) I has gained a lot of experience in retail sales.

Answer: I
have
has gained a lot of experience in retail sales.

4) In addition, I have took several accounting courses.

Answer: In addition, I have
taken
took several accounting courses.

5) My supervisor has gave me more and more responsiblity.

Answer: My supervisor has
given
gave me more and more responsiblity.

Each sentence has four underlined words or phrases. The four underlined parts of the sentence are marked A, B, C, and D. Circle the letter
of the ONE underlined part that is NOT CORRECT.

6) I've wanted to visit Hawaii since years, but I haven't been there yet.
A B C D

Answer: B

7) We went there last year after we have visited Japan.
A B C D

Answer: C

8) I lived here since I got married in 1998.
A B C D

Answer: A

1


